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76- A:1have difficulty solving my math problems. Could you please help me?

B: Sure! I ----—-—--- help you, but first I ---------- take my brother to the park because I gave him my promise.
) am going to — am going to Y) am going to — will
¥) will — am going to &) will — will

~

(ool - jol, S — bugio) ¥ a5 zuly

EDUCATIONAL BOX

Cunl 23007 o (sl be going to ¢ Will JGslw 93 30,5 jl (15,5 g (09080 (i (1
(Gl Aoz )5
IG5 @568 (59350 )1 Ko pol8L) JSluwe J= > il
SpEdles SHb sl gl qoladly )3l @ a5 (g8 Gub bl (Jg )5 adles <SS llais i
1S G Jol P sl 390 55 1L 1anl
(Y o) clain)S 3)) a0 um)s be going 1o a1y Will (w 839 LB Cud 9 ad (9L 9 (slabiz) oS Cumles)> (j92
19> G gl L akl) >
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The rooms will be redecorated but all the facilities will be the same.
el hio 9 Jub> ol 9 pum (rami 5 golwlp 01T Ghadiy Y
| suppose that this pandemic will continue for the next ten years.
(M8 (6200l 55y (1912 (599 9 @Il (B (55 pll ¥
A: May | have a glass of water?
B: Yes of course. | will deal with it .
6)5 plasl gl 0313 Sl e L )8 plal gl gledales o31> lis glp - F
| will take you to the school, I'm free this morning.
L0313 1 (68 plil Jgb by )31 jomd (glp .0
You will do your assignments.
S (50 a3laswll Will jl asbidge Camlgs)> (gl .#
Will you help me with my chores?
:be going to )5
2394050 03latwl Wload a38,S (S s g Jad b g (prior plans) 8 jl &S (Slasewad g aolip ¢l ¢lp jGsbs ¢l jl )
They are going to have a rest, because they are really tired.
J32wl 9 Ghio b g 39290 ABlgd (ulilp 010T (harduy .Y
As you see we are going to have a lack of water supply.
(65 OB L b plzl @ jgiws W
You're going to pick up all of those toys right now. This room is a mess.
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76- I .. asking her to see me again until she says 'Yes'.
V) had kept Y) was keeping
) will keeping ) am going to keep v .
e
1€ (ilundl g punl pn 9GS VA Jlgu 8
77- 1can’t give up sugar. It’s one of ........... I have left in life.
V) the few pleasures‘/ Y) the little pleasure
) so much pleasure £) only some pleasures
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Environmental protection in Tanzania began (AA) -------------- the German occupation of East Africa (YAA<-
Y4Y4)—colonial conservation laws for the protection of game and forests were enacted, (A%) -------------- restrictions

were placed upon traditional indigenous activities such as hunting, firewood (4 +) -------------- , and cattle grazing. In
Y4¢A, Serengeti (3Y) -------------- for wild cats in East Africa. Since Y 4AY, there has been a more broad-reaching effort

to manage environmental (#¥) -------------- at a national level, through the establishment of the National Environment
Management Council (NEMC) and the development of an environmental act.
4Y- V) issues Y) suggestions ) variations ¢) protections
| (hugio) VS gy
Sl (A
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Various alizo
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variable pasiio

d *'5“5
1o (ilundl (g punl po 9GS AL Jlgw P

81- The restaurant prepares traditional food, and its menus ............. from season to season to suit what is fresh at

the market.
V) reflect Y) range ¥) vary?’ ¢) attend
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97- What is the best title for the passage?
V) Regret in American culture
Y) Against all the odds, regret can be positive!
) Japanese female athletes and their outstanding achievements
) Regretful people usually achieve remarkable goals

(bungio) Y auS gul
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Kool S8 50 Gloiy (O
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98- Which of the followings can be concluded from the passage?
V) Regret has always been considered a source of inspiration in American culture.
Y) The author seems to believe that regret is a negative feeling and should be avoided at any cost.
) In Japanese culture, it is believed that regret is a great motivation to achieve extraordinary goals.
£) Contrary to what many people believe, regret can be a source of inspiration to achieve goals.
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80- Handicrafts are good examples of the art and ................. of a country.
) culture?’ Y) homeland ) arrangement £) communication
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93- The passage is mainly concerned with -------------- .
V) the importance of scientific studies on sports injuries
Y) the necessity of using ice packs to heal injured muscles
) the commonly wrong belief that icing can be beneficial for healing injured muscles
£) the fact that strenuous exercise is harmful to our physical health
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100- The word “vulnerable” in paragraph 1 is closest in meaning to ---------- .

V) sick Y) injured ¥) strong f) weak
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82- We know the effect it will have on those involved and we are doing all we can to provide our support to
those............... and their families.

V) harmful Y) injured v ) painful ¢) strange
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77- -mmmmmmeeee- they swimming at the swimming pool when they ------------- a terrible noise?
V) Were / heard Y) Are / were hearing
¥) Do / were hearing ¢) Did / heard
(oot _ yol)S _ baungic) VS by

EDUCATIONAL BOX
ing Job a5 1T0 Job 03k JKib 8 lgen did g do ¢j9mad (XaS Jledl jl a2y .cunl "Bloj Elgl" Eamao jl Cand ¢l 65 3) wiz Glgise ainS @ ol b
(F o ¥ aSs) .l
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When my brother phoned me, | was playlng chess.

olw adiS (o)l potul a1 S
0392 0355 Jb Bk o )3 ) S5j eyl asloj !
While | was playing chess, my brother phoned me.

&) il i oslw a1 38
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84- There was something she was supposed to remember about the accident; something so ................ that she
couldn’t bring herself to think of it.
V) boring Y) heavy ¥) sudden ¢) terrible v

A ST TR 1 N ST i 7
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Each year almost A+ +s+ + + Americans have a heart attack. A heart attack (&) when blood flow to the
heart suddenly becomes blocked. (A4) ---------- the blood coming in, the heart can't get oxygen. If not treated quickly,
the heart muscle (2+) to die. But if you do get quick treatment, you may be able to prevent or limit damage
to the heart muscle. (3) the symptoms of a heart attack and call Y Y ¢ if you or someone else is having them.
At the hospital, health care (1Y) make a diagnosis based on your symptoms, blood tests, and different heart
health tests.

3

AA- ) happens Y) begins ) generates ¢) prevents
| (bwgic) VS gy
02 srfolr @ o35 g O35 E9r5 (7 ool 5list O
Happen Begin Generate Prevent
68 Gl 0> g 0 0 sl
Happen to Beginning Generation Prevention
Sl xt8] Gl Eop s Sl
Happening Beginner Generator Forbid
sy 31 sl g st Wi oA wisd
Event Initiate Produce / make
slus, o T s s
Start Manufacture
s s 0wy
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at the wedding: grandparents, parents and children.
¥) generations ¥/ £) principles

86- There were at least three
Y) ceremonies

V) orders
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Brain drain is the migration of skilled human resources for trade, education, etc. Trained health professmnals are
needed in every part of the world. However, better living standards and quality of life, higher salaries, access to
advanced technology, and more stable political conditions in the developed countries attract talent from less developed
areas. The majority of migration is from developing to developed countries. It is of growing concern worldwide
because of its impact on the health systems in developing countries. These countries have invested in the education
and training of young health professionals. It translates into a loss of considerable resources when these people
migrate, with the direct benefit accruing to the recipient states who have not forked out the cost of educating them.
The intellectuals of any country are some of the most expensive resources because of their training in terms of material
cost and time, and most importantly, because of lost opportunity.

In Y+« almost YYe million people, or Y,%7 of the world’s population, were living outside their country of birth
for more than a year. Of these, about e million were economically active. This form of migration has, in the past,
involved many health professionals: nurses and physicians have sought employment abroad for many reasons,
including high unemployment in their home country.

94- The author seems to believe that ---------- .
V) the most difficult part of emigration for health professionals is to find a decent job in the host country
Y) the reason why some health professionals emigrate is due to the fact that they are not loyal to their home country
¥) brain drain is an important global issue but not as urgent as political issues
£) the emigration of countries’ intellectuals is a huge waste of their resources
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87- Don't -------------- yourself to go through this difficult time alone; others know how hard it is to --------------
smoking and can help you succeed.
V) allow / keep Y) limit / keep ) allow / quit £) limit / quit
(oo g Wo¥ _ 53lg _ Jauwgic) P S Al
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One exercise in teamwork | do at a company meeting .............. (AA) the group in a circle. At one particular meeting,

there were eight people in the circle, and | handed tennis balls to one person to start throwing around the circle. If N
equals the number of people in the circle, then the highest number of balls you can have in the air is N minus Y. Why?
Because it’s almost .............. (M) to throw and catch at the same time.

The purpose of the exercise is to demonstrate the importance of an individual’s action. People usually only focus on
catching the ball, but in fact, two ................ (4+) are equally important to the success of the exercise: that ..............
(3)) catches the ball and that you are able to catch the ball. If you care less about how you deliver information
................ (3Y) about how you receive it, you’ll fail. You have to be skilled at both.

AA- V) has put Y) is to put v ) to put £) was putting
) jlo (il 09,5 °
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94- What does the underlined word “that” in paragraph 1 refer to?
V) the impossibility of flying for humans
Y) the impossibility of making E-planes
¥) making very light batteries for E-planes
¢) extraordinary gains in aviation technology
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One exercise in teamwork | do at a company meeting .............. (AA) the group in a circle. At one particular meeting,
there were eight people in the circle, and | handed tennis balls to one person to start throwing around the circle. If N
equals the number of people in the circle, then the highest number of balls you can have in the air is N minus Y. Why?
Because it’s almost .............. (A9) to throw and catch at the same time.
The purpose of the exercise is to demonstrate the importance of an individual’s action. People usually only focus on
catching the ball, but in fact, two ................ (4+) are equally important to the success of the exercise: that ..............
(3)) catches the ball and that you are able to catch the ball. If you care less about how you deliver information
................ (1Y) about how you receive it, you’ll fail. You have to be skilled at both.

A4~ ) balanced Y) exact ) valuable ¢) impossible v
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